






  

    PHYSICAL SCIENCES GRADE 12 

QUESTION 1







1.1  electrolysis 



(1)



1.2  Interference
(pattern)    
      
(1)


1.3  Eutrification


   
(1)










           [3]







QUESTION 2

	 2.1
	A
	B
	C
	D

	 2.2
	A
	B
	C
	D

	 2.3
	A
	B
	C
	D

	 2.4
	A
	B
	C
	D

	 2.5
	A
	B
	C
	D

	 2.6
	A
	B
	C
	D








[3 X 2 = 6]





     



           TOTAL SECTION A : 15
QUESTION 3
3.1.1
Zn is a strong enough reducing agent (to reduce Cu2+ to Cu (in A) (, but Cu is not a strong enough reducing agent to reduce Zn2+ to Zn (
3.1.2
Copper (II) ion (
(0/1 if Cu2+)

3.1.3
Cu2+   +   Zn                   Zn2+   +   Cu((
3.2.1 
Cu 2+ +    2e-      
Cu((
3.2.2
EΘcell = EΘcathode -  EΘanode (
= 0,34 - (-0,13) ((
= 0,47 V(
The light bulb will not shine. The cell does not provide sufficient energy/ the cell's emf is too low/too high internal resistance. (
3.2.3 
While the cell is in operation, the concentration of Cu2+  ions will decrease and that of the Pb2+ ions will increase.  At the same time, the cell potential will decrease until it reaches zero, where there will be no further change in concentration.  Equilibrium is reached in the cell. ((













[15]

QUESTION 4
4.1.1
Degree of diffraction (Diffraction angle)
(
4.1.2
Wavelength
(




4.2
Source 1. AOD is directly proportional to wavelength  ((
4.3 
sinθ = mλ/a   (

Sin(5) = (1)(λ) / 5x10-5
or 
Sin(10) = (2)(λ) / 5x10-5    ((

λ = 4.36x10-6m

or 
λ = 4.34x10-6m     (













[8]

QUESTION 5
5.1      Photoelectric effect    (


(1)
5.2
E = Wo + KE
   (



hc/λ = Wo + KE    (

(6.63x10-34)(3x108) / 300x10-9 = 1x10-20 + KE   (

KE = 6.53x10-19










1/2mv2 = 6.53x10-19    (

1/2(9.11x10-31)v2 =   6.53x10-19    (

v = 1197325.96 (









(6)













[7]

QUESTION 6

6.1      cationic (


(1)
6.2
titanium and nickel.(stainless steel)(






(1)

6.3
N(











(1)

6.4
2H2O    +  2e(   →    H2  + 2OH-     ((   






(2)
6.5
Gas A
 is chlorine( and cleaning agents  (





(2)

6.6
Mercury is toxic









(1)
((any one)

























[8]

QUESTION 7
7.1
Fractional distillation of liquid air (






(1)
7.2
Haber process(









(1)
7.3
2NO+ O2 → 2NO2 (









(1)
7.4
Catalytic oxidation of ammonia (







(1)
7.5
HNO3 (










(1)
7.6
C :  (NH4)2SO4 (  and   D: Ammonium nitrate(





(2) 













[7]
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